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Distributive Property - MCQ WS #1

Choose the correct choice equivalent to the statement.

Correct Choice: D

Correct Choice: D

) 5x(3+7) = 2) 12x(4+2) = 3) 6x(9+3)=

A. 5+ (3x7) A 12X 4+ 12 %2 A. 6+9%x6+ 3

B. 5+43x5+7 B. 12+4x 12+ 2 B. 6+ (9x 3)

C. 5x3+5x7 C. 12+ (4% 2) C. 6x9x%x3

D. 5x3x7 D. 12x4x%x 2 D. 6x9+6x3
Correct Choice: @ Correct Choice: @ Correct Choice: @
4) 8x(6+4) = 5) 2X (94 5) = 6) 7x (14 + 2) =
A. 8X6X%X4 A. 2X9x%x5 A. 7+ 14x 7+ 2

B. 8x6+8x4 B. 2+9%x2+5 B. 7+ (14 x 2)

C. 8+ (6x4) C. 2+ (9%x5) C. 7X14+7x%x2

D. 8+6x8+ 4 D. 2x9+4+2x%x5 D. 7x14x 2
Correct Choice: [:] Correct Choice: [:] Correct Choice: [:]
7) Mx(3+7) = 8 9x(13+4) = 9) 3x(6+ 8) =

A. 1T x3+11x7 A. 9x 13 x4 A. 3+ (6% 8)

B. 11 x3x7 B. 9+ 13 x9+ 4 B. 3Xx6+3x%x8

C. 1M+ (3x7) C. 9x13+9x 4 C. 3+6x3+8

D. 1MT+3x11+7 D. 9+ (13 x 4) D. 3x6x8

Correct Choice: D

10) 4x(12+5) =

A 4x12%x5

B. 4+ 12x4+5
C. 4x12+4x5
D. 4+ (12 x5)

Correct Choice: D

11) 13x(2+ 8) =

A. 13 x2X%X8
B. 13+2x13+ 8
C. 13+ (2x8)
D. 13x2+13%x8

Correct Choice: D

12) 10x(7+4) =

A 10x7+10x 4
B. 10+7x 10+ 4
C. 10+ (7x4)
D. 10x7x4

Correct Choice: D

13) 7x(9+6) =

A. 7+ (9% 6)
B. 7Xx94+7x6
C. 7+9%x7+6
D. 7x9%x6

Correct Choice: C}

14) 15X (3+ 8) =

A. 15+ 3%x 15+ 8
B. 15x 3+ 15x%x 8
C. 15x3x8
D. 15+ (3 x 8)

Correct Choice: C}

15) 5x(6+ 14) =

A. 5+6Xx5+ 14
B. 5x6x 14
C. 5+ (6x 14)
D. 5x6+5x%x 14

Correct Choice: C}

© k8worksheets.com




